060060600000

Montage- und Betriebsanleitung
Navod k montazi a provozu
Montage- og driftsvejledning
Instrucciones de montaje y de servicio
Notice de montage et d’utilisation
Asennus- ja kayttoohjeet

Installation and Operating Instructions
Oonyieg TomodéTnoNG Ol AerTtovgyiog
Istruzioni di montaggio e per I'uso
Monterings- og bruksanvisning
Montage- en gebruikshandleiding
Monterings- och bruksanvisning

Instrukcja montazu i eksploataciji

332130691101 -07/02

ANHANGEKUPPLUNGEN

Nissan Serena ab 11/92

1



Lieferumfang der
Anhédngevorrichtung

@ Objem dodani tazného zafizeni

Anhangertrakkets
leveringsomfang

G Volumen de suministro del enganche

Pieces comprises dans la fourniture
de I'attelage

@ Vetokoukun toimituksen sisalto
@ Scope of delivery of towing hitch

@ IMegieybuevo Tov TEETOV TNG CPULOLNG
epaiig Ceding pe orngrypa

a Dotazione del gancio di traino
o Leveringsomfang for tilhengerfestet
@ Leveringsomvang trekhaak

o Dragkrokens leveransspecifikation

Zakres dostawy haka
holowniczego

2
3
4 65559
5| ex @559 M10x1,25x40 (10.9
6| 8 @59 M10x35 (8.8)

8x © 10,5x25x4

26x © 10,5x30x3

8x M10 (8)
G R

v




6066060600600

Lieferbare Ersatzteilumfange Anhangevorrichtung
Dodatelné nahradni dily tazného zafizeni

Reservedele, der kan leveres til anhangertraekket
Volumen de piezas de repuesto suministrables del enganche
Piéces de rechange disponibles pour I’attelage
Vetokoukun toimitettavissa olevat varaosat

Available spare parts for towing hitch

Kotdloyos Tov 01odioipmv avtorloaTi@dv TNG 0Qaioiig @oins (evENS ue otioLtyna.
Pezzi di ricambio disponibili per il gancio di traino
Reservedeler for tilhengerfestet som kan leveres
Leverbare reserve-onderdelen t.b.v. trekhaak
Dragkrokens reservdelsspecifikationer

Zakres dostarczanych czesci zamiennych haka holowniczego

932 130 650 001 932 086 609 001

4-10 2,3




LOL 169 0C1L CEC

n/ﬂ, d

@ 0EXGZ'LX0L N /m
— vme IX0L W

— W @V@/E%

Oz 1
GexX0L N7 o@\

0EXGZ'LX0L N /w
|

%V 0EXGZ LX0L N

o_/@

9 v\ f//fo 7 /IRL ‘
GeX0L W~ - _ f &5 J /1




D-
DK -
CZ -
E-
F-

FIN -
GB -
GR-

H -
-
N -
NL -

P-
PL -
S-
SLO -
SK -
TR-

Der Freiraum nach Anhang VII, Abbildung 30 der Richtlinie 94/20/EG ist zu gewahrleisten.

Frirummet skal overholdes iht. bilag VII, fig. 30 i direktiv 94/20/EF.

Volny prostor ve smyslu Prilohy VI, obr. 30 Smérnice &. 94/20/EG musi byt zarucen.

Debe garantizarse el espacio libre, conforme al anexo VI, figura 30 de la directiva comunitaria CE/94/20.
La zone de dégagement doit étre garantie conformément a I'annexe VI, illustration 30 de la directive 94/
20/CE.

Vapaa tila on taattava direktiivin 94/20/EY liitteen VII, kuvan 30 mukaisesti.

The clearance specified in appendix VI, diagram 30 of guideline 94/20/EG must be guaranteed.

Mpétrel va e€ao@aAileTal 0 EAeUBEPOG XWPOG oUPPWVA e To TTapdpTtnua VI, eikéva 30 Tng Odnyiag 94/
20/EOK.

Biztositani kell a 94/20/EK iranyelv szerinti, VII. szamu fliggelék 30. abraban jelolt szabad teret.

Deve essere garantito lo spazio libero secondo I'allegato VII, figura 30 della direttiva 94/20/CE.
Frirommet etter tillegg VI, avbilding 30 i direktiv 94/20/EEC skal overholdes.

De tussenruimte conform supplement VII, afbeelding 30 van de richtlijn 94/20/EG moet in acht worden
genomen.

Garantir a zona livre, conforme Anexo VI, grafico 30 da Norma 94/20/CE.

Nalezy zagwarantowac przestrzen swobodng wedtug zatacznika VI, ilustracja 30 wytycznej 94/20/EG .
Spelrummet enligt bilaga VII, figur 30 i riktlinje 94/20/EG skall garanteras.

Zagotoviti zracnost po priklopu VII, slika 30, smernice 94/20/EG .

Volny priestor v zmysle Prilohy VII, obr. 30 Smernice &. 94/20/EG musi byt’ zaru¢eny.

94/20/EG Yonetmeligi, Ek VIl, Resim 30'da belirtilen serbest alan birakiimalidir.

M

3
n © N
[0) e 2
s) L9 o o)
-] 3 = Q D o
[} L8 w9 5
N g o800 £ E ©
o 2 = > > =
< s S '® O O — @ = o
(] o] c 10)0’ (] ; —
1 [ = O > >O N
N=5 Q O O -9 0 o
N ., O 3 x X o O O S X >
max. 109 Vo SO0 Og5m £ O0x =
()] - =
T s c X =) (] (4}
~ Q 2 e o} c o 0 ®
: - - E2 0058 0cQog>0 o
I S©c>2= RPEEXZ2Z o ScB
. 1. Qs =53¢ O (D.._-ON‘._,'Q-H—
= /mm-65 EE"angﬁO*ﬁ%Z—Sgaxog’Q
= (0] = Q »m Q NS =
. mSEO%g-Coon;.'QBazzc':
- M\ EE oo g ad s8 S .2 0N o]
+ € = ol > o5 gléoo@'q__)““
P mc‘wglu_cmml_ﬁmg_hgutcs
T PBE-52ESX0 0T8OS TSEG S
o Q>SnEscco 3To0a0=8acS o35S
> AN~ ~ L’) (DHJDCDEO o)) '-:-"6——0(030_9.
m ~* Pom=coC2ERLTmT=E2 20
= LN ECcic =8 S5 c TOE g NEwns*®
= § 8508530859282 8n=22F
()] R + Ty @) o - —
g o o 28208, 22820238588957T 5
E I s30T G63>3FEo0owvaS=3N
3 »w T O = E Q_,_(U Q00 Cw®
=(U(u_~<WO>Cw=3 @(UQ—O'O>X
A | =s== 04 30 cC=3 OO0 % = C€
SE0garToaocoESTOQ oL 03
° (= N ) LC(U'_L 0E>,.,,_'oo_
< m o -_<c35§8 5@ EEQS;Z.C 0
l’f m GJ(D>LOO.Q,-O—19'_‘(D(D:=‘O\__-9LLN
O >0 0Q@0WOD>0CQA>000Q0>aQk-
1
1 ! ' 0 1 1 olI
.xN.-ZﬁJnﬂ','_l'_l'_l¥n:
[aNaNSNIT] LOOIT _=Z22 anw =
SN N
rd
*V‘J,Q A
st

LN,
~
=

=

min. 75
A
5
=
N
S
|
——

max. 30° |




0 An hangeVO rriChtu ng (Kupplungskugel mit Halterung)

ohne Elektrosatz
Hersteller: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalia-Bestell - Nr.: 332 130

Genehmigungsnummer nach Richtlinie 94/20/EG: e13 00-0321

Klasse: A50-X Typ: 332130

Technische Daten: maximaler D-Wert: 9,5 kN
maximale Stitzlast: 100 kg

Verwendungsbereich: Fahrzeughersteller: Nissan

Modell: Serena ab 11/92

Typbezeichnung: C 23 Ausf. D22E,D32E,E32E,D 12 S,
D22S,E22S
C 23 Ausf. W

Allgemeine Hinweise:
Furden Fahrbetrieb sind die Angaben des Fahrzeugherstellers bzgl. Anhdngelast und Stitzlast
maRgebend, wobei die Werte der Anhangevorrichtung nicht Giberschritten werden dirfen.

Anhangelast [kg] x Kfz. Gesamtgewicht [kg] = 9,81

Formel fr D-Wert-Ermittlung: Anhangelast [kg] + Kfz. Gesamtgewicht [kg] 1000

=D [kN]

Die Anhangevorrichtung dient zum Ziehen von Anhangern, welche mit Zugkugelkupplungen
ausgerustet sind und zum Betrieb von Lastentragern, welche fiir die Montage auf der Kupplungs-
kugel zugelassen sind. Artfremde Benutzung ist verboten. Der Betrieb mull den Strallen-
verhéltnissen angepaldt erfolgen. Beim Betrieb verdndern sich die Fahreigenschaften des
Fahrzeuges. Die Betriebsanleitung des Fahrzeugherstellersistzu beachten.

Die vom Fahrzeughersteller serienmafig genehmigten Befestigungspunkte sind eingehalten.
Nationale Richtlinien Uber die Anbauabnahmen sind zu beachten.
Diese Montage- und Betriebsanleitung ist den Kfz. - Papieren beizufligen.

Montagehinweise:

Die Anhangevorrichtung ist ein Sicherheitsteil und darf nur von Fachpersonal montiert werden.
Jegliche Anderungen bzw. Umbauten an der Anhéngevorrichtung sind verboten. Sie filhren zum
Erlédschen der Betriebserlaubnis.

Isoliermasse bzw. Unterbodenschutz am Kfz. -falls vorhanden - im Bereich der Anlageflachen
der Anhangevorrichtung entfernen. Blanke Karosseriestellen sowie Bohrungen mit Rostschutz-
farbe versiegeln.

Betriebshinweise:

Samtliche Befestigungsschrauben der Anhangevorrichtung nach ca. 1000 Anhénger-km mitden
vorgeschriebenen Anziehdrehmomenten nochmals nachziehen.

Die Kupplungskugel ist sauber zu halten und zu fetten. Werden jedoch Spurstabilisierungs-
einrichtungen, wie z.B. die Westfalia "SSK" benutzt, mul} die Kupplungskugel fettfrei sein. Die
Hinweise inden jeweiligen Betriebsanleitungen beachten.

Sobald an einer beliebigen Stelle ein Kupplungskugel-Durchmesser von 49,0 mm oder kleiner
erreicht ist, darf die Anhangevorrichtung aus Sicherheitsgriinden nicht mehr benutzt werden.
Das Leergewicht des Fahrzeuges erhéht sich nach Montage der Anhangevorrichtung um 17 kg.

Anderungen vorbehalten.



Montageanleitung:

1)

2.)

3)

4.)

Bei Fahrzeugen mit Benzin-Motoren (Einzelradaufhangung) den hinteren Endschalldampfer
entfernen. Bei Fahrzeugen mit Diesel-Motoren (Starrachse) ist dieses nicht notwendig.

Die KmH "A" unter das Fahrzeug halten und bei "a" mit den Sechskantschrauben
M 10x1,25x40 und Scheiben 10,5x25x4 an das Heckabschlu3blech schrauben (Schweil3-
muttern vorhanden).

Hinweis: Die Schrauben M 10x1,25x40 (Festigkeitsklasse 10.9) sind mit einem
Anzugsdrehmoment von 50 Nm anzuziehen (das Anzugsdrehmoment entspricht
dem der Festigkeitsklasse 8.8).

Die Winkel "B" (bei Fahrzeugen mit Einzelradaufhdngung) oder die Winkel "C" (bei
Fahrzeugen mit Starrachse) bei "b" an die Langstrager mit den Sechskantschrauben
M 10x1,25x30 und Scheiben 10,5x30x3 verschrauben. Die Winkel bei "¢" mit dem
Quertragerund der KmH"A" mittels Sechskantschrauben M 10x30, Scheiben 10,5x30x3 und
Sechskantmuttern M 10 verschrauben.

40 Nm £5%
40 Nm £5%

Anzugsdrehmomentfir M10x1,25
M 10

Den hinteren Endschalldampfer wieder befestigen.

Anderungen vorbehalten.



@ Taina Za‘fizeni bez elektropfislu§enstvi

Vyrobce: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalia objednaci Cislo: 332 130

Cislo povoleni podle smérnice 94/20/EG: e13 00-0321
Trida: A50-X Typ: 332 130
Technicke udaje: maximalni D-hodnota: 9,5 kN

maximalni zatizeni podpéry: 100 kg

Oblast pouziti: vyrobce vozidel: Nissan
model: Serena od 11/92
typové oznaceni: C 23 Proved. D22 E, D32 E, E32E,

D12S,D22S,E22 S
C 23 Proved. W

VSeobecné informace:
Pro jizdu jsou smérodatné udaje vyrobce vozidla popf. udaje o zatizeni privésem a
zatizeni podpéry, pficemz nesmi byt pfekroCeny hodnoty tazného zafrizeni.

zatizeni privésem [kg] x celkova vaha vozidla [kg] = 9,81
zatizeni privésem [kg] + celkova vaha vozidla [kg] 1000

Formule ke zjisténi D-hodnoty: =D [kN]
Tazné zafizeni slouzi tahani privés(, které jsou vybaveny kulovym taznym zarizenim a k provozu
nosnikd povolenych k montazi na kulové tazném zafizeni. Jiné pouZiti je zakazano. PouZziti musi
odpovidat silni€nim pomérim. P¥i provozu se méni jizdni vlastnosti vozidla. Musi se brat na
zietel provozni navod vyrobce vozidla.

Vyrobcem vozidla sériové povolené upeviovaci body se musi dodrzet.
Smeérnice jednotlivych statl o prejimani nastaveb museji byt respektovany.
Montazni a provozni navod se musi pfipojit k dokladdm vozidla.

Montazni informace:

Tazné zarizeni je bezpecnostni dil a smi byt namontovan jen odborniky.

Kazda zména popf. pfemény na tazném zarizeni jsou zakazany. Vedou jen ke ztraté
platnosti provozniho povoleni.

Odstranit izola€ni masu pop¥. ochranny natér podvozku vozidla - kdyz existuje - v
oblasti pfitlacnych Casti tazného zafizeni. 0Cisténé Casti karoserie, jakoz i vyvrty uzavrit
barvou proti rezavéni.

Provozni informace:

V8echny upeviovaci Srouby tazného zafizeni dotahnout po cca 1000 km tazeni pfivésu
predepsanym krouticim momentem.

Spojovaci koule se musi udrzovat ¢ista a namazana. Pouziji-li se stabilizadni zafizeni stop,
jako napt. Westfalia "SSK”, pak musi byt spojovaci koule bez mazaciho tuku. Dodrzujte
informace v patficnych provoznich navodech.

Jakmile bude dosazen na nékterém misté prdmér spojovaci koule rovny nebo mensi nez
49,0 mm, nesmi byt tazné zafizeni z bezpeCnostnich diivodu vice pouzivané.

Vaha prazdného vozidla se zvySi po montazi tazného zafizeni o 17 kg.

Zmény vyhrazeny.



CZ,

1.) U vozidel s benzinovymi motory (nezavislé zavéSeni kol) odstranit zadni koncovy
tlumi€ vyfuku. U vozidel se vznétovymi motory (tuha naprava) to neni zapotrebi.

Montazni navod:

2.) Tazné zarizeni ,,A* pfidrzet pod vozidlem a v misté oznateném pismenem ,a*
priSroubovat pomoci Sroubl )se Sestihrannou hlavou M 10x1,25x40 a podlozek
10,5x25x4 na zadni kryci plech (svafované matice jsou k dispozici).

Upozornéni: Srouby M 10x1,25x40 (tfida pevnosti 10.9) je
tfeba utahovat utahovacim momentem 50 Nm
(utahovaci moment odpovida tfidé pevnosti 8.8).

3.) Uhly,,B¥ (u vozidel s nezavislym zavésenim kol) nebo uhly ,,C* (u vozidel s tuhou
napravou) v misté oznaeném ,,b*“ naSroubovat pomoci Sroubl se Sestihrannou
halvou M 10x1,25x30 a podloZek 10,5x30x3 na podélny nosnik. Uhly se§roubovat v
misté oznaceném ,,c¢* s pricnym nosnikem a taznym zafizenim ,,A“ pomoci Sroubt s
Sestihrannou hlavou M 10x30, podlozek 10,5x30x3 a Sestihrannych matic M 10.

Utahovaci moment M 10x 1,25 = 40 Nm 5%
M 10 = 40 Nm 5%

4.) Zadni koncovy tlumiC vyfuku opét pfipevnit.

Zmeény vyhrazeny.



@ An h&ngel‘trak uden el-saet

Fabrikant: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalia bestillingsnr.: 332 130

Tilladelsesnummeriflg. retningslinie 94/20/EU: e13 00-0321

Klasse: A50-X Type: 332130

Tekniske specifikationer: Maksimal D-veerdi: 9,5 kN
Maksimal stattelast: 100 kg

Anvendelsesomrade: Karetgjsfabrikant: Nissan

Model: Serena fra 11/92

Typebetegnelse: C23Ausf.D22E,D32E,E32E,D12S,
D22S,E22S
C 23 Ausf. W

Generelle henvisninger:
Ved kerselsdrift er alle oplysninger fra keretsjsfabrikanten angaende anhaengerlast samt
stattelast retningsgivende. Man ma dog ikke overskride veerdierne for anhaengertraekket.

Anhaeengerlast [kg] x karetgjets totalveegt [kg] X 9,81
Anhaeengerlast [kqg] + karetgjets totalveegt [kg] 1000

Formel til registrering af D-veerdien: =D [kN]
Anhaengertraskket hartil formal attraekke anhaengere, der er udstyret med traskkoblingskugler samt
tildrift af lastdragere, derertilladt tilmontage af anhaengertreekket. Andre anvendelser erforbudte.
Driften skal finde sted pa normale trafiksveje. Ved drift forandres karetajets kareegenskaber. Man
skal vaere opmaerksom pa og overholde karetgjsfabrikantens driftsvejledning.

De fastggrelsespunkter, som karetgjsfabrikanten har som standard, skal overholdes.
De nationale direktiver for afmontering af pamonterede dele skal overholdes.
Denne montage- og driftsvejledning skal vedlaegges karetgjets papirer.

Montagehenvisninger:

Anheaengertraekket er en sikkerhedsdel og ma udelukkende monteres af fagfolk.

Enhver a&ndring henh. ombygning af anhaengertraekket er forbudt. De medfgrer , at driftstil-
adelsen ikke leengere er gyldig.

Isoleringsmasse henh. undervognsheskyttelse pa karetgjet, hvis disse er til stede, skal
fjernes fra omradet omkring anhaengertraekket. Blanke karosseridele samt udboringer skal
forsynes med rustbeskyttelsesfarve.

Driftshenvisninger:

Samtlige fastgerelsesskruer pa anheengertreekket skal eftertraekkes efter ca. 1000 km med
anhaengeren. Dette skal ggres med de forskrevne startdrejningsmomenter.

Koblingskuglen skal holdes ren og smgres. Hvis man dog anvender
sporstabiliseringsanordninger, sdsom Westfalia “SSK”, skal koblingskuglen veere uden
smgrelse. Vaer opmaerksom pa og overhold henvisningerne i den pagaeldende driftsvejledning.
Nar et vilkarligt sted pa koblingskuglen har en diameter pa 49,0 mm eller mindre, ma man ikke
anvende anhaengertraskket af sikkerhedsmaessige arsager.

Kgretgjets egenvaegt forhgjes med ca. 17 kg, nar anhaengertraskket monteres.

Retten til andringer forbeholdes.

10



| DK

Montageanvisning:

1)

2.)

3)

4.)

For kagretgjer med benzinmotorer (knaeledsophaengning) skal den bagerste lydpotte
fiernes. For karetgjer med dieselmotorer (stiv aksel) er dette ikke ngdvendigt.

Hold anhaengertraekket ,,A*“ under karetgjet og skru det fast ved ,,a“ med
sekskantskruerne M 10x1,25x40 og skiverne 10,5x25x4 pa den bagerste hak (svejse-
motrikker findes ogsa).

Henvisning: Skruerne M 10x1,25x40 (styrkeklasse 10.9) skal spandes med en
tilspaendingsveerdi pa 50 Nm (tilspaendingsveerdien svarer til
styrkeklasse 8.8).

Vinklen ,,B“ (for keretgjer med knaeledsophaengning) eller vinklen ,,C* (for kgretgjer med
stiv aksel) skal skrues fast ved ,,b* pa lasngdevangen med sekskantskruerne

M 10x1,25x30 og skiverne 10,5x30x3. Vinklen ved ,,c* skal skrues sammen med
tvaervangen og anhaengertraekket ,,A“ ved hjaelp af sekskantskruerne M 10x30, skiverne
10,5x30x3 og sekskantmgtrikkerne M 10.

40 Nm 5%
40 Nm 5%

Tilspeendingsvaerdi for M10x1,25
M 10

Den bagerste lydpotte saettes pa igen.

Retten til &ndringer forbeholdes.

11



G E ngaHChe juego eléctrico

Fabricante: WESTFALIA-AUTOMOTIVE GmbH & Co. KG NUm. de pedido Westfalia: 332 130

Numero de autorizacion segun la norma 94/ 20/ CE: e13 00 - 0321
Clase: A50-X Modelo: 332130
Datos técnicos: valor D maximo: 9,5 kN

carga de apoyo maxima: 100 kg

Campo de aplicacion: Fabricantedevehiculo: Nissan
Modelo: Serena a partir de 11/92

Designaciéon de modelo: C 23 Version D22 E, D 32 E, E 32 E,
D12S,D22S,E22S
C 23 Version W

Indicaciones generales:

Son determinantes los datos del fabricante del vehiculo referente a la carga de remolque y carga
de apoyo para la utilizacion del vehiculo, no debiendo ser sobrepasados los valores del
enganche.

Férmula para la determinacién del valor D:

Cargo de remolque [kg] x Peso total del vehiculo [kg] « 9,81
Cargo de remolque [kg] + Peso total del vehiculo [kg] ~ 1000 - P [kN]

Elenganche sirve para el arrastre de remolques equipados con un acoplamiento esférico de traccién
para el remolque de soportes de carga autorizados para el montaje en una bola de enganche. Se
prohibe la utilizacion destinada a otros usos. La utilizacidn debe efectuarse de acuerdo a las
condiciones detrafico. Durante la utilizacién se modifican las cualidades de marcha del vehiculo. Deben
observarse las instrucciones de servicio del fabricante del vehiculo.

Se han tomado en consideracion los puntos de fijacion de serie del vehiculo indicados por el
fabricante del vehiculo.

Deben observarse las directivas nacionales referentes a controles de enganche.

Estas instrucciones de montaje y de servicio deben adjuntarse a la documentacion del vehiculo.

Indicaciones de montaje:

El enganche es una pieza de seguridad y debe ser montado tinicamente por personal
especializado. No esta autorizado efectuar cambios o modificaciones en el enganche. Ello
conllevaria la consiguiente anulacién del permiso de circulacion. Eliminar la masilla aislante o
proteccion de bajos del vehiculo - en caso de existir - en la zona de las superficies de apoyo
del enganche. Aplicar pintura protectora anticorrosion en las superficies de chapa desnudas asi
como en los taladros.

Indicaciones de servicio:

Volver a apretar todos los tornillos de fijacion del enganche segun los pares de apriete prescritos
después de haber circulado aprox. 1000 km con el remolque. Mantener limpio y engrasado el
enganche. En caso de utilizar dispositivos de estabilizacion direccional, como por ejemplo el "SSK”
Westfalia, el enganche debera estar libre de grasa. Obsérvense las indicaciones en las
correspondientes instrucciones de servicio. Si en cualquier zona se advierte que el diametro del
enganche alcanza los 49,0 mm o una medida inferior, debe dejar de utilizarse el enganche por
motivos de seguridad. El peso en vacio del vehiculo se incrementa en 17 kg una vez efectuado el
montaje del enganche.

Reservado el derecho a introducir modificaciones.

12



1.) Enlos vehiculos con motores de gasolina (suspensién independiente), retirar el
silenciador final posterior. En los vehiculos con motores Diesel (gje rigido) no es
necesario.

Instrucciones de montaje:

2.) Colocar el enganche ,,A“ bajo el vehiculo y atornillarlo en ,,a“, con los tornillos de cabeza
hexagonal M 10x1,25x40 y las arandelas 10,5x25x4, a la chapa terminal trasera (se
cuenta con tuercas de soldadura).

Nota: Los tornillos M 10x1,25x40 (categoria de resistencia 10.9) se deben apretar con
un par de apriete de 50 Nm (el par de apriete corresponde a la categoria de
resistencia 8.8).

3.) Atornillar las escuadras ,,B* (en vehiculos con suspension independiente) o las
escuadras ,,C“ (en vehiculos con eje rigido) en los puntos ,,b*, con los tornillos de
cabeza hexagonal M 10x1,25x30 y las arandelas 10,5x30x3, a los largueros de bastidor.
Unir las escuadras con la traviesa y el enganche ,,A* en los puntos ,,c*“, mediante tornil-
los de cabeza hexagonal M 10x30, arandelas 10,5x30x3 y tuercas hexagonales M 10.

40 Nm 5%
40 Nm +5%

Par de apriete para M 10x 1,25
M 10

4.) \Volver a fijar el silenciador final posterior.

Reservado el derecho a introducir modificaciones.

13



o Attelage sans kit électrique

Marque : WESTFALIA-AUTOMOTIVE GmbH &Co. KG Référence Westfalia : 332 130
Numeéro d’autorisation selon directive 94/20/CE : e13 00-0321

Classe : A50-X Type : 332130

Caractéristiques techniques : Valeur D maxi : 9,5 kN

Chargesurtimonmaxi: 100 kg

Domaine d’application: Constructeur automobile : Nissan

Modele : Serena a partir de 11/92
Désignationdutype : C23ModeleD22E,D32E, E32E,
D12S,D22S,E22S
C 23 Modele W

Généralités :

Pour l'utilisation sur route, il convient de prendre en compte les indications du
constructeur relatives a la charge remorquée et a la charge sur timon, les valeurs autorisées
pour I'attelage ne devant pas étre dépassées.

Formule pour la détermination de la valeur D :

charge remorquée [kg] x PTR [kg] 9,81
charge remorquée [kg] + PTR [kg] X 1000

= D [kN]

L’attelage sert ala traction de remorques équipées d’'un accouplementaboule, et a l'utilisation de
porte-charges dont le montage est homologué sur la boule d’attelage. Toute utilisation non
conforme a cette définition est interdite. L'utilisation doit étre adaptée aux conditions de la
circulation. Les propriétés routieres du véhicule sont modifieées par I'utilisation de I'attelage. Les
instructions d’utilisation du constructeur doivent étre respectées.

Les points de fixation homologués en série par le constructeur sont respectés.
Les dispositions nationales relatives aux contréles de réception doivent étre respectées.
Cette notice de montage et d'utilisation doit étre jointe aux documents du véhicule.

Indications pour le montage :

L’'attelage est un élément de sécurité et doit é&tre monté exclusivement par un personnel
qualifié.

Toute modification ou transformation effectuée sur I'attelage est interdite et entraine
'annulation de 'autorisation d’exploitation.

Eliminer toute masse isolante ou produit de protection du soubassement sur le véhicule
- si existant - dans la zone des surfaces d’appui de 'attelage. Enduire les surfaces nues de la
carrosserie ainsi que les orifices d’'une peinture anticorrosion.

Indications pour I'utilisation :

Resserrer 'ensemble des vis de fixation de I'attelage au couple de serrage prescrit au bout
d’environ 1000 km avec 'attelage.

Nettoyer et graisser réguliérement la boule d’attelage. Toutefois, si des équipements de
stabilisation tels que Westfalia ,SSK" sont utilisés, la boule d’attelage doit étre exempte de
graisse. Respecter les indications données dans les différentes notices d’utilisation.

Dés que le diameétre de la boule d’attelage atteint en un endroit quelconque 49,0 mm ou
moins, I'attelage ne doit plus étre utilisé pour des raisons de sécurité.

Le poids a vide du véhicule augmente de 17 kg aprés le montage de I'attelage.

Sous réserve de modifications.

14



Instructions de montage:

1)

2.)

3)

4.)

Surles véhicules équipés du moteur aessence (suspension aroueindépendante), ilfautenlever
le silencieux arriére. Sur les véhicules équipés du moteur Diesel (essieu rigide), ce n’est pas
nécessaire.

Tenir laboule d’attelage et support "A", sous le véhicule, et, a "a", visser sur la tole de
fermeture du hayon (écrous soudés présents) avec les vis a téte hexagonale M 10 x 1,25 x 40
et les rondelles de 10,5 x 25 x 4.

Remarque : il faut serrerles vis M 10 x 1,25 x 40 (classe de résistance 10.9) a un couple de
serrage de 50 Nm (ce couple de serrage correspond a celuides vis de la classe
de résistance 8.8).

Visserlescornieres "B" (surlesvéhicules a suspension aroueindépendante)oules corniéres
"C" (sur les véhicules a essieu rigide), a "b" sur les longerons en utilisant les vis a téte
hexagonale M 10 x 1,25 x 30 et les rondelles de 10,5 x 30 x 3. Visser les cornieres a "¢ sur
latraverse et surlaboule d’attelage et support "A" avecles vis atéte hexagonale M 10 x 30,
les rondelles de 10,5 x 30 x 3 et les écrous M 10.

40 Nm £5%
40 Nm £5%

Couple de serrage pour M 10x 1,25
M 10

Fixer de nouveau le silencieux arriére.

Sous réserve de modifications.

15



® VetO kOU kut llIman séhkdosia

Valmistaja: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalian tilausnro: 332 130
Direktiivin 94/20/EG mukainen hyvaksymisnumero:  e13 00-0321

Luokka: A50-X Tyyppi: 332130

Teknisettiedot: Suurin D-arvo: 9,5 kN

Suurinkoukkukuorma: 100 kg

Kayttékohteet: Ajoneuvonvalmistaja: Nissan
Malli: Serena alkaen 11/92
yppimerkinta: C23VersioD22E,D32E, E32E,
D12S,D22S,E22S
C 23 Versio W

Yleiset ohjeet:
Ajokdytdssa ajoneuvon valmistajan tiedot koskien vetokuormaa ja koukkukuormaa ovat
maaraavia, joskaan vetokoukun arvoja ei mydskaan saa ylittaa.

Ventokuorma [kg] x ajoneuvon kok.paino [kg] 9,81

Kaava D-arvon laskentaa varten: Ventokuorma [kg] + ajoneuvon kok.paino [kg] = 1000

= D [kN]

Vetokoukku on tarkoitettu sellaisten perédvaunujen vetamista varten, jotka on varustettu
vetokoukkukytkentalaitteella, ja sellaisia taakkatelineita varten, jotka on hyvaksytty asennettaviksi
vetokoukkuun. Muunlainen kayttd on kielletty. Kaytéssa tieolosuhteet on huomioitava. Vetokaytdssa
ajoneuvon ajo-ominaisuudet muuttuvat. Ajoneuvon valmistajan kayttdohjeita tulee noudattaa.

Ajoneuvonvalmistajan sarjatuotantoa varten hyvaksytyt kiinnityskohdat sopivat kaytettaviksi.
Kansallisia asennusten teknista hyvaksymista koskevia maarayksia on noudatettava.
Nama asennus- ja kayttdohjeet tulee liittdd ajoneuvon dokumentteihin.

Asennusohjeita:

Vetokoukku on turvallisuuteen vaikuttava osa ja sen saavat asentaa vain ammattihenkil6t.
Vetokoukun kaikki muutokset ja muunnokset ovat kiellettyja. Ne johtavat kayttéluvan
peruuntumiseen.

Poista tarvittaessa ajoneuvosta vetokoukun kosketuspintojen eristemassa ja alustansuoja-
aine. Peita korin paljaat kohdat ja poraukset ruosteenestomaalilla.

Kayttdohjeita:

Kirista vetokoukun kaikki kiinnityspultit noin 1000 km:n ajon jalkeen ilmoitetuilla
kiristysmomenteilla.

Vetokoukku tulee pitdd puhtaana ja rasvattuna. Kaytettaessa suuntavakavuuden
parantamislaitteita, kuten esim. Westfalian "SSK”-laitetta, vetokoukkua ei kuitenkaan saa
rasvata. Noudata kyseisen laitteen kayttéohjeita.

Heti vetokoukun kuulan halkaisijan ollessa mielivaltaisessa kohdassa 49,0 mm tai pienempi,
vetokoukkua ei turvallisuussyista enaa saa kayttaa.

Ajoneuvon omapaino nousee vetokoukun asennuksesta johtuen 17 kg.

Oikeudet muutoksiin pidatetaan.

16



FIN,

Asennusohje:

1) Poistakaa bensiinimoottoriajoneuvoista (erillistuenta) loppudénenvaimennin.
Dieselmoottoriajoneuvojen (jaykka akseli) kyseessa ollessa ei tama ole valttdmatdnta.

2) Asettakaa vetokoukku “A” auton alle ja ruuvatkaa kiinni takahelmapeltiin kiinnityksen
“a” kuusioruuveilla M 10x1,25x40 ja aluslaatoilla 10,5x25x4 (hitsausmutterit valmiina).
Ohje:  Ruuvit M 10x1,25x40 (lujuusluokka 10.9) kiristetaan kiristysmomentilla 50 Nm

(kiristysmomentti vastaa lujuusluokkaa 8.8).

3.) Ruuvatkaa kiinni kulmarauta “B” (ajoneuvoihin, joissa on erillistuenta) tai kulmarauta
“C” (ajoneuvoihin, joissa on jaykka akseli). Kiinnitys “b” kuusioruuveilla M 10x1,25x30
ja aluslaatoilla 10,5x30x3 pitkittaispalkkiin. Kulmarauta kiinnityksella “c”
poikittaispalkkiin ja vetokoukkuun “A” kuusioruuveilla M 10x30, aluslaatoilla 10,5x30x3
ja kuusiomuttereillaM 10.
Kiristysmomenttiruuveile M10x1,25 =40Nm 5%
muttereille M 10 =40Nm £5%

4) Kiinnittakaa jalleen loppuaanenvaimennin.

Oikeudet muutoksiin pidatetaan.

17



@ TOWi n g h itc h Without electrical set

Manufacturer: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalia order no.: 332 130
Approval no. as per Guideline 94/20/EC: e13 00-0321
Class: A50-X Model: 332130
Technical data: Maximum D-value: 9,5 kN
Maximum nose weight: 100 kg
Area of application: Vehicle manufacturer: Nissan
Model: Serena from 11/92
Model designation: C23VersionD?22E,D32E,E32E,
D12S,D22S,E22S
C 23 Version W

General information:
The vehicle manufacturer’s specifications regarding trailer load and nose weight are deci-
sive for driving, and the values specified for the towing hitch must not be exceeded.

_trailer load [kg] x vehicle total weight [kg] « 9,81
“trailer load [kg] + vehicle total weight [kg] 1000

Formula for D-value = D [kN]

The towing hitch serves for towing trailers fitted with ball couplings and for use with load carriers
approved for attachmentto the towing hitch. Any use otherthan that specified is prohibited. Driving
with atrailermustbe adaptedto the road conditions. The vehicle’s handling is affected when a trailer
is being towed. Follow the vehicle manufacturer’s instructions.

The fixing points specified as standard must be observed.
National guidelines concerning official approval of auxiliaries must be observed.
These installation and operating instructions must be enclosed with the vehicle papers.

Installation instructions:

The towing hitch is a safety component and must only be installed by qualified personnel.
Any alteration or conversion to the towing hitch is prohibited, and would lead to cancellation of
design certification.

Remove insulating compound and underseal from vehicle (if present) in the area of the
mating surfaces of the towing hitch. Seal any bare bodywork and bores with anti-corrosive
paint.

Operating instructions:

Again tighten all securing bolts of the towing hitch after approx. 1000 trailer km, observing
specified tightening torques.

The towing hitch must be kept clean and greased. However, if a stabilisation device, e.g.
Westfalia “SSK”, is used, the towing hitch must be free from grease. Follow the instructions in
the relevant operating instructions.

As soon as the towing hitch diameter is 49.0 mm or less at any point, it must no longer be
used for safety reasons.

After the towing hitch is fitted, the empty weight of the vehicle increases by 17 kg.

Subject to alteration.

18



D

Installation Instructions:

1)

2.)

3)

4)

Remove the end silencer at the rear from vehicles with petrol engines (single wheel
suspension). This is not necessary for vehicles with diesel engines (rigid axle).

Hold the towing bracket "A™" in position under the vehicle and, at "a", screw onto the rear
apronwiththe M10x1,25x40 hexagon bolts and the 10,5x25x4 washers (weld nuts available).

Note: The M10x1,25x40 bolts (strength class 10.9) must be tightened to a tightening
torque of 50 Nm (the tightening torque corresponds to strength class 8.8).

At"b", attach brackets "B" (for vehicles with single wheel suspension) or brackets "C" (for
vehicles with rigid axles) to the side arms with M10x1,25x30 hexagon bolts and 10,5x30x3
washers. At "c¢", attach the brackets to the frame cross member and towing bracket "A"
with M10x30 hexagon bolts, 10,5x30x3 washers and M10 hexagon nuts.

40 Nm £5 %
40 Nm £5%

Tighteningtorquefor M 10x 1,25
M 10

Resecure the end silencer at the rear.

Subiject to alteration.

19



@ 0QPULOLEG EPUAEG LEVENG ue oLy
o) €

T NAETEOAOYLOV VALOV
Kataoevootig: WESTFALIA-AUTOMOTIVE GmbH & Co. KG

Westfalia-AouD. togayyeiiag: 332 130

Ao adelog ovuemvo, pe v odnyia 9420/EK: e13 00-0321
Katyopia: AS0-X Tmoc: 332130
Teyxywd otouyeio: uéytotn un D: 9,5kN
uéyoto Paog otHEENC: 100 kg
Touéag epapuoync: Kataoevootic  autovitov: Nissan
HEds CaQROTIS Mov%é?»o: i Serena a1ré 11/92
Xapatnolondg timou: C23moporrayn D22 E, D 32E,

E32E,D12S,D22S,E22S
C 23 wogairayr W

Ieviég vwooeiéelc:

o ™V 001 yNeN TOV CVTOLYITOV OYETLE UE TO QUUOVAOVUEVO BAog (Bdoog Toéthep) on TO
Bdooc otnaEnc (atadouen dlvaun oty €@ain Tou 0ToaddQOV) LEYVOVY TO OTOLYELN TOV
UTUCEVOOTY] TOV CUTOLVITOV, OOV OL OYeTLEG TLUEC Ue TN oeaLoL) QoA CevEnc ue
OTNAELYUO OEV ETUTOETETOL VO EETEQUOTOVV.

Tmog vroloyiopov g tung D:

Bdpoc pupotinong [kg] x ovvoild Paoog oxnuatog [kg] < 9.81
Bdpoc pupotinong [kg] + ovvoild Baoog oxnuatog [kg] 1000 —

D [kN]

H o@aipik KeQaAr CeUENG Pe OTAPIYUA XPNOIKOTTOIEITAI IO T PUMOUAKNON TPEIAEP TTOU €ival
€COTTAIOUEVA UE QVTIOTOIXO UNXAVIOHOS {EUENG YIQ OQAIPIKA KEQPOAR KAl YIO TN AEITOUPYIa CUCTNUATWYV
TTOU ETMTPETIETAI VO HOVTOPIOTOUV OTn oQaIpik KagaA {euéng. Mia SIa@QopETIKY xpron
atrayopeuetal. H Asitoupyia TTpETTEl va gival TIPOCOPPOCUEVN OTIG CUVUAKES TWV dpduwv. Katd tn
Aeiroupyia aAA&CEl N oUPTTEPIPOPA 0BFYNONG TOU QUTOKIVATOU. MPETTEI va OOUEI TIPOC XTI OTIG 0dNYiES
AgIToupyiog Tou KaTaOKeUaoTr). Ta onueia oTEPEWONG TTOU €XOUV EYKPIUEI KAVOVIKA atrd Tov
KOTOOKEUAOTN) TOU QUTOKIVITOU £XOUV TPNUEI.

MpETTEl v TNPOUVTAI O KPATIKOI KAVOVICUOI OXETIKA JE TOV EAEYXO QUAEWUATWV.

AUTEG 0100NYiEG TOTTOUETNONG KAl AEITOUPYIOG TTPETTEI VA ETTICUVATITOVTAI OTA XOPTIG TOU QUTOKIVHTOU.

Ymoocierg TomodéTnong:
H oparoi epoin {e0Eng ue otholypa eival Evo e£GQTNUO AOQUAEINC 0L ETUTQETETOL VL
TomoUeTelTol novo awd €1d1eVUEVO TEOOMTLO.
Amayopeteton dVe allayn | LETATQEOTN OTN OQoLEL] QoA LevEng pe otiotyua. Ot Tuydv
aAAOyEG | LETATQOTEG 0N YOV OTNV ARMOT TNG AOELNG AELTOVQYLAG.
AQaéoTe To VAL pOVOENS | TNV €£MTEQLT TEOOTUOLO TOV dUTEDOV - O TEQITTMOON TOY
VIAQYOVV - 0Xd TNV ETMPAVELD TOV QUTOLVATOU TTov Vo ToroVetnVel 1 opouoty) epair {evEnc
e otigrypo. Bapte g youvég petodhiés empaveres addg or TG OTEG e avTILOmQLOS Y QMU0
YmooeiEelg Aertovpylog:
MeTd mepimov 1000 yAduetoa 0dNyNoNg ue Teélheg Eavaopi&te Ohec TG Pldeg oTeémoNg NG
oQULEMG €QUANG (eVENG ne othioLyua pe TNV TeoPAemduevn Qomn oTtEEYNG.
H oo epoal) (evéng pue otioryua eémet va, dwotneeitar adoon o vo yoaodpetat. ‘Otav
oumc¢ yomnopogootvral dathéelg otadepomoinong Tov iyvoug, 6w m.y. 1 Westfalia "SSK”, oev
emMTEETETAL 1] OQOLEL €A CevEng e otiolypa va elvar ypooaoouév. TTpooéEte g
vooelelg oTic edoToTe 00NYiec Aettovpyiog.
MoMg oe dmowa Déomn 1 OLOUETQOG TNG TPAUOING €PaANG (evENg yivel 49,0 mm 1) wedtepn,
dev emTeémeTon TAEOV Yo AdYOUS aOPOAEDG 1 XONOT TNG OPAUEG €PaANg CevENg ue oThOLyUaL.
Metd v TomoVéTnon ™G oeaiog e@aine Cevéng ue otiolyua avédvel to adagd Paoog Tou
avtowvhitov atd 17 kg.

Atotnoovue 1o Oloai®U AAAOYDV.

20



D

Odnyieg TomwoOéTnonc:

1)

2)

3)

4)

Av 10 Oxnua €xel Kivntpa Bevlivng (aveEadpTntn avapTnon TPOXWY), GPAIPETTE TOV
Tiow TEAIKO olynTAPA. Av To dXnua eXEI KIVNTAPA TTeETpeAaiou (AkauTrTo &Eova), TOTE
auTo dev gival ATTAPAITATO.

KpatioTe TN o@aipikr KeQaAr euéng pe othpiyua ‘A’ K&Tw atrd 1o dxnua Kail BIdWwoTe
OTO onueio ‘@’ pe T e§aywvikeg Bidec M 10 x 1,25 x 40 kal Toug diokoug
10,5 x 25 x4 010 PETAAAIKO TEAEiWPa TOU KATTW (UTTApXOUV TTagIuddia cuykdAnong).

Ymodeign: O egaywvikég Bidegc M 10 x 1,25 x 40 (BaBuog avroxng 10.9) rpétrel va
ouo@IxBouv pe potri aTpéwns 50 Nm ( n poTrr) oTPEWNGS AVTIOTOIXEI OE
auTrVv evog Babuou avtoxnic 8.8)

BidwaTe Ti¢ ywvieg ‘B’ (0€ oxApaTa ue aveEdpTnTn avaptnaon TpoXwv) A TIG YWVIES
‘C’ (o€ oxAuaTa e AKauTITo GEova) oTo onueio ‘b’ Tavw oTa Katd YAKOG oTNPIyHaTa
ME TIG e€aywVIKES B1oegc M 10 x 1,25 x 30 kai Toug diokoug 10,5 x 30 x 3. BIdwoTe TIg
YWViIEG 0TO onueEio ‘e’ Ye To KABETO OTHPIYUA KAl TN 0QalpIKA KEQAAN (euéng ‘A’ uE
e€aywvikeg Bioeg M 10 x 30, diokoug 10,5 x 30 x 3 kal e€aywvika TTagiuddia M 10.

Pot oloeiEng yia M 10 x 1,25 =40 Nm 5%
M 10 =40 Nm 5%

ZAVOOTEPEWOTE TOV TTICW TEAIKS O1yNTHPA.

Alotnoovue 1o OLooi®UN AAAOYDV.

21



o GanCiO di tl’aino Senza kit elettrico

Produttore: WESTFALIA-AUTOMOTIVE GmbH & Co. KG N. ordinazione Westfalia: 332 130
Numero di omologazione secondo la direttiva 94/20/CE: e13 00-0321
Classe: A50-X Tipo: 332130
Dati tecnici: Valore D max: 9,5 kN
Carico di appoggio max: 100 kg
Campo d’impiego: Produttore automobilistico: Nissan
Modello: Serena da 11/92
Denominazionetipo: C23vers.D22E,D32E,E32E,
D12S,D22S,E22 S
C23vers. W

Avvertenze generali:

Per la marcia sono valide le indicazioni del produttore automobilistico rispetto al peso
trainabile ed al carico di appoggio. Non si devono comunque superare i valori del gancio di traino.
Formula per il rilevamento del valore D:

peso massimo [kg] x peso totale vettura [kg] x 9,81
peso massimo [kg] + peso totale vettura [kg] 1000

= D [kN]

Ilgancio ditraino serve pertrainare dei rimorchi dotati di ganci sferici, nonché per il funzionamento con
portacarichi omologati per il montaggio sul gancio di traino. Qualsiasi altro uso & vietato.
Il funzionamento deve essere adeguato alle condizioni della strada. Durante il funzionamento si
modificano le caratteristiche di guida della vettura. Rispettare le istruzioni per 'uso del produttore
automobilistico.

| punti di fissaggio omologati di serie dal produttore automobilistico sono stati rispettati.
Devono essere osservate le normative nazionali sui collaudi.
Le presenti istruzioni di montaggio e per 'uso devono essere allegate ai documenti della vettura.

Avvertenze di montaggio:

Il gancio di traino € un componente di sicurezza e deve essere montato solo da tecnici
specializzati.

E’ vietata qualsiasi modifica costruttiva del gancio di traino. Una tale modifica comporterebbe
linvalidamento dellomologazione del ministero dei trasporti.

Eliminare I'isolante o la protezione sottoscocca eventualmente presente sulla vettura nella zona
delle superfici di appoggio del gancio di traino. Trattare le parti sverniciate della carrozzeria ed i fori
con vernice antiruggine.

Avvertenze per l'uso:

Dopo circa 1000 km effettuati con il rimorchio, riserrare tutte le viti di fissaggio del gancio di traino
con le coppie di serraggio prescritte.

Il gancio di traino deve essere pulito e lubrificato. Solo se si usano dei dispositivi di stabilizzazione
della traiettoria, per esempio il dispositivo Westfalia ,SSK", il gancio di traino deve essere privo di
grasso. Rispettare le avvertenze delle relative istruzioni per l'uso.

Non appena il gancio di traino raggiunge in qualsiasi punto un diametro di 49,0 mm o inferiore, il
gancio di traino stesso non deve essere piu usato per motivi di sicurezza.

Dopo il montaggio del gancio di traino il peso a vuoto della vettura aumenta di 17 kg.

Ci riserviamo modifiche.

22



Istruzioni di montaggio :

1)

2.)

3)

4.)

In caso di veicoli con motore a benzina (sospensione a ruote indipendenti), rimuovere la
marmitta posteriore. Cid non & necessario in caso di veicoli con motore diesel (assale
rigido).

Sostenere il gancio di traino “A” sotto il veicolo e avvitarlo alla lamiera posteriore nei
punti contrassegnati con “a” con le viti esagonali M 10x1,25x40 e gli anelli 10,5x25x4
(dadi saldati a disposizione).

Nota: Awvvitare le viti M 10x1,25x40 (classe di resistenza 10.9) con un momento di
avvitamento pari a 50 Nm (il momento di avvitamento corrisponde alla classe di
resistenza 8.8).

Avvitare i giunti angolari “B” (per veicoli con sospensione a ruote indipendenti) oppure i
giunti angolari “C” (per veicoli con assale rigido) nei punti contrassegnati con “b” ai
longheroni con le viti esagonali M 10x1,25x30 e gli anelli 10,5x30x3. Avvitare i giunti an-
golari nei punti contrassegnati con “c” con la traversa ed il gancio di traino “A” per mez-
zo delle viti M 10x30, gli anelli 10,5x30x3 ed i bulloni M 10.

40 Nm 5%
40 Nm 5%

momento di avvitamento M10x 1,25
M 10

Fissare nuovamente la marmitta posteriore.

Ciriserviamo modifiche.

23



MINISTERO DEI TRASPORTI E DELLA NAVIGAZIONE
Direzione Generale della Motorizzazione Civile
e dei Trasporti in Concessione

Tabella riassuntiva dei casi che si possono presentare

VEICOLO DISPOSITIVO COLLAUDO DOCUMENTAZIONE |Rifer.
presente
circolare

Omologazione | Omolgazione 94/20/CE NO NO -
Europea e tipo di gancio gia
individuato nella carta
di circolazione del veicolo (*)
Omologzione 94/20/CE Sl - targhetta
e tipo di gancio indicato o non - istruzioni di B.1.
sulla carta di circolazione ed montaggio e funzion.
installato successivamente - scheda di omologaz.
alla immatricolazione del veicolo e relativo allegato
=> (facoltativi)
- dichiarazione di CA1.
corretto montaggio
Approvazione nazionale Sl - mod. DGM 405 B.2.
- dichiarazione di
montaggio a c.2.
regola d’arte
Omologazione | Omologazione 94/20/CE Sl - targhetta
Nazionale - istruzioni di B.1.
montaggio e funzion.
ovvero - scheda di omologaz.
e relativo allegato
Accertamento —> (facoltativi)
dei requisiti - dichiarazione di CA1.
diidoneita corretto montaggio
alla circola-
zione Approvazione nazionale Sl - mod. DGM 405 B.2.
- dichiarazione di
montaggio a c.2.
regola d’arte

(*) L'annotazione sulla carta di circolazione del veicolo riporta la dicitura:
“Il veicolo puo essere dotato sin dall’origine della strutturaditraino ...

con omologazione .......................... )

DICHIARAZIONE DI MONTAGGIO

Si dichiara che il dispositivo di traino
tipo
é stato installato a regola d’arte, nel rispetto delle
prescrizioni fornite dalla Casa costruttrice,
sull’autoveicolo:



GRAND-DUCHE DE LUXEMBOURG

Luxembourg, le 05 février 1998

MINISTERE DES TRANSPORTS 19-21, Boulevard Roval

Tél. 478-1 - Télécopieur 241817 - Télex 1465 CIVAIR LU

REFERENCE : No e13*94/20%94/20*0321*00

ANNEXES : Documentation technique

FICHE DE RECEPTION CEE
EC TYPE-APPROVAL CERTIFICATE

Communication concernant - Ia réception
Communication concerning the type-approval

d'un type d'élément de construction visé par la directive 94/20/CE o
of a type of a component with regard to Directive 94/20/EC ©

Numéro de réception @ : €13%94/20%94/20%0321*00

Type-approval number @ :

Motif de 1'extension : sans objet
Reason of extension :

SECTION 1
SECTION I

0.1. Marque (raison sociale du constructeur) : Westfalia

Make (trade name of manufacturer) :
0.2. Type et description(s) commerciale(s)

générale(s) : 332 130

Type and general commercial description(s) :
0.3. Moyens d'identification du type, tels que

marqués sur 1'élément de construction ® :  voir point 0.7. ci-apres

Means of identification of type if marked on the
component ® :



0.3.1.

0.5.

0.7.

0.8.

Emplacement de ce marquage :
Location of that marking :

Nom et adresse du constructeur :
Name and address of manufacturer :

Dans le cas des composants et des

unités techniques séparées, emplacement
et mode d'apposition du marquage de
réception CEE :

In the case of components and separate technical
units, location and method of affixing of the

EC approval mark :

Nom(s) et adresse(s) des usines
d'assemblage
Name(s) and address(es) of assembly plant(s) :

e13%94/20%94/20*0321*00

voir point 0.7. ci-aprés

Westfalia-Werke GmbH & Co.
Am Sandberg 45
D-33378 Rheda-Wiedenbriick

sur la plaque du constructeur (marquage estampé ou

autocollant)
fixé sur le support de la prise de courant ou sur le tuyau

transversal

Westfalia-Werke GmbH & Co.
Am Sandberg 45
D-33378 Rheda-Wiedenbriick

SECTION II
SECTION II

Informations supplémentaires
(s'il y a lieu) :
Additional information (where applicable) :

Autorité déléguée:
Assigned authority:

Service technique chargé de
procéder aux essais :

Technical service responsible for carrying out
the tests :

Date du rapport d'essai :
Date of test report :

Numéro du rapport d'essai :
Number of test report :

Remarques (s'il y a lieu) :
Remarks (if any) :

Lieu :
Place :

voir appendice I ci-joint

Société Nationale de Controle Technique-Homologations
L-5201 Sandweiler

UTAC International s.a r.1.
Boite Postale 11
L-6901 Roodt-sur-Syre

28.01.1998

10FAS1779A

voir appendice I ci-joint

Luxembourg



-3- €13*94/20%94/20*0321*00

Date : 05 février 1998

Date :

Signature : Pour la Ministre des Transports
Signature :

CASAAL

Paul SCHMIT
Commissaire du Gouvernement

Une liste des documents du dossier de réception présenté a 1'autorité compétente ayant accordé la
réception, qui peut étre obtenu sur demande, est jointe.

The index to the information package lodged with the competent authority that has granted type approval, which may be obtained
on request, is attached.

voir "INDEX DU DOSSIER DE RECEPTION" ci-joint



1.1.

1.2.

1.3.

1.4.

1.5.

1.6.

1.7.

-4- €13%94/20%94/20*0321*00

APPENDICE I
APPENDIX I

relatif 2 la fiche de réception CEE n° ¢13*%94/20%94/20*%0321*00 .
concernant la réception de dispositifs d'attelage mécanique visés par la directive 94/20/CE
to EC type-approval certificate no £13%94/20%94/20*0321*00
concerning the type-approval of mechanical coupling devices with regard to Directive 94/20/EC

Informations complémentaires :
Additional information :

Catégorie du type d'attelage : AS0-X
Class of the type of coupling :

Catégories ou types de véhicules auxquels

le dispositif est destiné ou limité : Nissan Serena
Categories or types of vehicles for which the device is

designed or restricted :

Valeur D maximale [kN] ' : 9,5kN

Maximum D-value [kN] ©:

Charge d'appui verticale S maximale
sur I'attelage [kg] ©* : 100 kg

Maximum vertical load S at the coupling point [kg] © :

Charge U maximale sur la sellette

d'attelage [t] ¥ : sans objet
Maximum load U at the fifth wheel coupling

point [f] " :

Valeur V maximale [kN] @ : sans objet

Maximum V-value [kN] ® :

Instructions concernant le montage du type d'attelage sur le véhicule et photographies ou schémas des
points de fixation sur le véhicule, fournis par le constructeur; informations complémentaires si
I'utilisation du type d'attelage est limitée a des véhicules particuliers :

Instructions of attachment of the coupling type to the vehicle and photographs or drawings of the fixing points at the vehicle given by
the manufacturer; additional information if the use of the coupling type is restricted to special types of vehicles :

Une instruction de montage et d'emploi est jointe a chaque dispositif d'attelage.
Les dispositifs destinés au montage en série dans la construction de véhicules ou de carrosseries ne doivent pas
étre nécessairement accompagnés d'une instruction de montage et d'emploi.



-5- ¢13%94/20%94/20%0321*00 R £
K NG
1.8. Informations sur le montage de supports ou de plaques de montage spécifiques ¥ :

Information of the fitting of special towing brackets or mounting plates o

Le dispositif d'attelage ne peut étre fixé qu'aux points de fixation prévus et autorisés par le constructeur du
véhicule et avec les moyens de fixation éventuellement prévus.

5. Remarques @ : sans objet
Remarks @ :

Note explicative et récapitulative des extensions réalisées
Explanatory and recapitulatory note of delivered extensions

sans objet

O Biffer la mention inutile.

9 Delete where not applicable.

@ Le numéro de réception CEE par type figurant sur le présent document doit comporter tous les symboles décrits a I'annexe
VII de la directive 70/156/CEE, telle que modifiée en dernier lieu par la directive 92/53/CEE. L'élément de construction
proprement dit doit étre marqué conformément aux prescriptions de la directive particuliére applicable.

 The EEC type-approval number appearing on this document shall consist of all sections outlined in Annex VII to Directive 70/156/EEC, as last amended by Directive
92/53/EEC. The component itself shall be marked as prescribed in the relevant separate Directive.

® Sj les moyens d'identification du type comprennent des symboles ne convenant pas pour décrire les types d'éléments de
construction couverts par la présente fiche de réception, ces symboles doivent étre représentés dans la documentation par le
symbole "?" (p.e.: ABC??71232?).

™ If the means of identification of type contains characters not relevant to describe the component types covered by this type-approval certificate, such characters shall be
represented in the documentation by symbol : "?" (e.g.: ABC??12377).

@Y compris des informations concernant la possibilité d'utiliser des sellette d'attelage pour le guidage forcé de semi-remorques.

“ Including the information concerning the use of the fifth wheel coupling for the control of semi-trailers.



GRAND-DUCHE DE LUXEMBOURG

Luxembourg, le 05 février 1998

MlNlSTERE DES TRANSPORTS 19-21, Boulevard Royal
L-2910 LUXEMBOURG
Tél. 478-1 - Télécopieur 241817 - Télex 1465 CIVAIR LY

REFERENCE : No e13%94/20%94/20*0321*00

ANNEXES :
INDEX DU DOSSIER DE RECEPTION
INDEX TO TYPE-APPROVAL REPORT
Numéro de réception CEE : e13%94/20%94/20*0321*00
EEC type-approval number :
1. Procés-verbal d'essai : 10FAS1779A
Test report :
- Rapport technique: Pages 1 a6
- Index du dossier : Annexe A - Page 1
2. Dossier du constructeur : 332 130
Report of manufacturer :
- Fiche de renseignements du constructeur: Pages 001, 002
- Dessin du dispositif d'attelage: Page 003
3. Autres documents annexés : sans objet
Other documents annexed :
4. Date de délivrance de la réception
initiale : 05.02.1998
Date of issue of initial type-approval :
5. Date de la derniére délivrance de
pages révisées : sans objet
Date of last issue of revised pages :
6. Date de la derniére délivrance d'une

fiche de réception révisée : sans objet
Date of last extension :




Ti I hengerfeSte uten elektrosett o

Produsent: WESTFALIA-AUTOMOTIVEGmbH & Co.KG  Westfalia-bestillingsnummer: 332 130

Godkjennelsesnummer etter direktiv 94/20/EF: e13 00-0321
Klasse: A50-X Type: 332130
Tekniske data: maksimal D-verdi: 9,5 kN

maksimal stgttelast: 100 kg

Bruksomrade: Bilprodusent: Nissan
Modell: Serena fra 11/92
Typebetegnelse: C23utf. D22E,D 32E, E 32E,
D12S,D22S,E22S
C23utf. W

Generelle henvisninger:
For kjeringen gjelder oppgavene fra bilprodusenten med hensyn til tilhengerlast og
stottelast, verdiene for tilhengerfestet ma ikke overskrides.

Tilhengerlast [kg] x bil-totalvekt [kg] x 9,81
Tilhengerlast [kg] + bil-totalvekt [kg] 1000

Formel for D-verdi-beregningen: =D [kN]
Tilhengerfestettjenertil a trekke tilhengere som er utstyrt med kulekoplinger og for driftav lastbaerere
som er godkjent for montering pa koplingskulen. Annen bruk er forbudt. Bruken ma tilpasses
veiforholdene. Ved bruk endres bilens kjgreegenskaper. Driftsinstruksen fra bilprodusenten ma
folges.

De festepunktene som er godkjent av bilprodusenten som standard ma overholdes.
Nasjonale retningslinjer om godkjennelse av monteringer skal overholdes.
Denne monterings- og driftsanvisningen skal legges ved bilens dokumenter.

Monteringshenvisninger:

Tilhengerfestet er en sikkerhetsdel og ma kun monteres av fagfolk.

Enhver endring hhv. ombygging av tilhengerfestet er forbudt. De medfarer at driftstillatelsen
oppharer.

Isolermasse hhv. understellsbeskyttelse pa bilen - hvis det finnes - i omradet for
beereflatene pa tilhengerfestet skal fjernes. Blanke karosserideler og hull skal forsegles med
rustbeskyttelseslakk.

Driftshenvisninger:

Alle festeskruene pa tilhengerfestet skal ettertrekkes med foreskrevet tiltrekkingsmoment
etter ca. 1000 tilhenger-km.

Koplingskulen skal holdes ren og smares med fett. Hvis det imidlertid blir brukt
sporstabiliserings-innretninger som f.eks. Westfalia ,SSK“, ma koplingskulen veere fri for fett.
Falg henvisningene i de respektive driftsinstruksene.

Sa snart koplingskulen pa et eller annet sted har nadd en diameter pa 49,0 mm eller mindre,
ma tilhengerfestet av sikkerhetsgrunner ikke brukes lenger.

Bilens tomvekt gker med 17 kg etter montering av tilhengerfestet.

Endringer forbeholdes.

31



Ny

Monteringsveiledning:

1)

2)

3)

4)

32

Pa biler med bensinmotorer (enkelthjuls-oppheng) skal den bakerste endelyddemperen
fiernes. Pa biler med dieselmotorer (stiv aksel) er dette ikke nadvendig.

Hold tilhegerfestet ,,A“ under bilen og skru det fast til hekkens sluttblikk ved ,,a*“ med
sekskantskruene M 10x1,25x40 og skivene 10,5x25x4 (sveisemutre er for handen).

Merk: Skruene M 10x1,25x40 (styrkeklasse 10.9) skal trekkes til med et
tiltrekningsmoment pa 50 Nm (tiltrekningsmomentet svarer til styrkeklasse 8.8).

Vinklene ,,B* (pa biler med enkelthjuls-oppheng) eller vinklene ,,C* (pa biler med stiv
aksel) skrus fast pa lengdedragerne ved ,,b*“ med sekskantskruene M 10x1,25x30 og
skivene 10,5x30x3. Ved ,,c*“ skrus vinklene fast til tverrdrageren og tilhegerfeste ,,A*“ ved
hjelp av sekskantskruer M 10x30, skiver 10,5x30x3 og sekskantmutre M 10.

40 Nm +5%
40 Nm 5%

Tiltrekningsmoment for M10x 1,25
M 10

Fest den bakerste endelyddemperen igjen.

Endringer forbeholdes.



Trekhaak zonder elektrische uitrusting @

Fabrikant: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalia-bestelnr.: 332130
Goedkeurnummervigs. richtlijn 94/20/EG: e13 00-0321

Klasse: A50-X Type: 332130

Technische gegevens: maximale D-waarde: 9,5 kN

maximale kogeldruk: 100 kg

Toepassing: Voertuigfabrikant: Nissan
Model: Serena van 11/92
e-aanduiding: C23uitv.D22E,D32E,E32E,
D12S,D22S,E22S
C 23 uitv. W

Algemene aanwijzingen:

Voor het rijden met aanhangwagen zijn de specificaties van de voertuigfabrikant m.b.t. tot
getrokken gewicht en kogeldruk bindend; hierbij mogen echter de specificaties van de trekhaak
niet worden overschreden.

Formule t.b.v. bepaling van de D-waarde:

getrokken gewicht [kg] x totaal gewicht voertuig [kg] X 9,81
getrokken gewicht [kg] + totaal gewicht voertuig [kg] = 1000

=D [kN]

De trekhaak dientvoor hettrekken van aanhangwagens uitgerust mettrekkogelkoppelingen en voor
lastdragers die goedgekeurd zijn voor montage op de trekhaak. Het gebruik voor hiervan af-
wijkende doeleinden is niet toegestaan. Bij gebruik van de trekhaak dient rekening te worden
gehouden met de wegomstandigheden. Bij het rijden met aanhangwagen veranderen de rij-
eigenschappen van het voertuig. Gelieve hieromtrent de handleiding van de voertuigfabrikant te
raadplegen.

De door de voertuigfabrikant standaard toegestane bevestigingspunten zijn aangehouden.
Nationale richtlijnen betreffende de montagegoedkeuring moeten in acht worden genomen.
Deze montage- en gebruikshandleiding dient aan de voertuigdocumenten te worden
toegevoegd.

Aanwijzingen voor de montage:

De trekhaak is een veiligheidskritische component die uitsluitend door vakkundig personeel
mag worden ingebouwd. Elke wijziging c.q. aanpassing aan de trekhaak is ontoelaatbaar en
heeft bovendien het vervallen van de homologatie (bedrijfsvergunning) tot gevolg. Isolatie-
materiaal c.q. underbody coating aan het voertuig - indien aanwezig - ter plaatse van de
montagevlakken voor de trekhaak verwijderen. Blanke carrosseriedelen en geboorde gaten
met corrosiewerende lak verzegelen.

Aanwijzingen voor het gebruik:
Na ca. 1.000 km met aanhangwagen te hebben gereden dienen alle bevestigingsbouten van
de trekhaak met het voorgeschreven aanhaalkoppel te worden nagetrokken. De trekhaakkogel
altijd schoon en ingevet houden. Indien echter spoorstabilisatie-inrichtingen zoals bijv. de
Westfalia “SSK” gebruikt worden, moet de trekhaakkogel vetvrij zijn. Hiervoor dienen de
aanwijzingen van de betreffende gebruikshandleiding te worden opgevolgd. Zodra de trek-
haakkogel op enige plaats tot een kogeldiameter van 49,0 mm of minder ingesleten is, mag de
trekhaak om veiligheidsredenen niet meer gebruikt worden. Door de montage van de trekhaak
wordt het eigen gewicht van het voertuig met 17 kg verhoogd.

Wijzigingen voorbehouden.

33



\NLg

Montagehandleiding:

1)

2)

3)

4.)

34

Bij voertuigen met benzinemotor (onafhankelijke achterwielophanging) de achterste
einddemper uitbouwen. Dit is echter bij voertuigen met dieselmotor (starre achteras) niet
noodzakelijk.

Detrekhaak "A" onderhetvoertuighoudenenbij "a" metdezeskantboutenM 10 x 1,25 x 40
en onderlegringen 10,5 x 25 x 4 aan het achterste afsluitpaneel monteren (in de daar reeds
aanwezige lasmoeren).

Opmerking: De bouten M10 x 1,25 x40 (kwaliteit 10.9) moeten met een aanhaalkoppel van
50 Nm worden vastgezet (die aanhaalkoppel is hetzelfde als dat van kwaliteit
8.8).

De hoekstukken "B" (bij voertuigen met onafhankelijke achterwielophanging) of de hoek-
stukken "C" (bij voertuigen met starre achteras) bij "b" met de zeskantbouten
M 10 x 1,25 x 30 en onderlegringen 10,5x 30 x 3 aan de langsliggers monteren. De
hoekstukken bij "¢" met zeskantbouten M 10 x 30, onderlegringen 10,5x 30 x3 en
zeskantmoeren M 10 aan de dwarsbalk en de trekhaak "A™ monteren.

40 Nm £5%
40 Nm £5%

Aanhaalkoppelvoor M 10x 1,25
M 10

De achterste einddemper weer inbouwen.

Wijzigingen voorbehouden.



D I'ag krOk utan El-sats 9

Tillverkare: WESTFALIA-AUTOMOTIVE GmbH & Co. KG Westfalia best.-nr: 332 130
Tillstdndsnummer enligt Riktlinje 94/20/EG: e13 00-0321

Klass: A50-X Typ: 332130

Tekniska data: maximalt D-varde: 9,5 kN

maximaltstddlast: 100 kg

Anvandningsomrade: Fordonstillverkare: Nissan
Modell: Serena fran 11/92
Typbeteckning: C 23 Utforande D22 E, D32 E, E 32 E,
D12S,D22S,E22S
C 23 Utféorande W

Allmdanna anvisningar:

Normgivande for kérningen ar tillverkarens uppgifter betraffande slapvagnslast och
stodlast, varvid vardena for dragkroken inte far 6verskridas.

Formel for faststallning av D-vardet:

slapvagnslast [kg] x bilens totalvikt [kg] . 9,81 _ D kN
slapvagnslast [kg] + bilens totalvikt [kg] = 1000 ~ [kN]

Dragkroken anvands fér att dra slapvagnar, vilka ar utrustade med dragkulskopplingar samt for
anvandning av lasthallare (exempelvis fastsattning av cykelstall), som ar tillatna fér montering pa
dragkroken. All annan anvandning ar forbjuden. Anvandningen maste anpassas till
vagférhallandena. Vid koérning med slap fordndras bilens koéregenskaper. Beakta
fordonstillverkarens bruksanvisning.

De av fordonstillverkaren tillatna standard-fastsattningspunkterna har foljts.
Nationella riktlinjer betraffande monteringen skall beaktas.
Denna monterings- och bruksanvisning skall bifogas till fordonshandlingarna.

Monteringsanvisningar:

Dragkroken &r en sakerhetsdel och far endast monteras av fackpersonal.

Det ar forbjudet att géra andringar resp ombyggnader pa dragkroken. Detta leder till att
drifttillstandet dras in.

Tag bortisoleringsmassan resp underplatens skyddbeldggning (om sadan finns) fran
bilen i omradet kring dragkrokens anliggningsytor. Ytbehandla blanka karosseridelar samt
borrhalen med rostskyddsfarg.

Driftanvisningar:

Efterdrag dragkrokens samtliga fastsattningsskruvar annu en gang efter ca 1000 slapvagns-
km med de féreskrivna atdragningsmomenten.

Dragkroken skall hallas ren och fettas in. Anvander man sakerhetskoppling, exempelvis West-
falia "SSK” maste kopplingskulan vara fri fran fett. Beakta anvisningarna i respektive
bruksanvisning.

Da kopplingskulans diameter pa nagot stalle ar 49.0 mm eller mindre, far dragkroken av
sakerhetsskal inte langre anvandas.

Bilens tomvikt 6kas med ca 17 kg efter monteringen av dragkroken.

Med forbehall for andringar.

35



Monteringsanvisning:

1)

2)

3)

4)

36

Om bilen har en bensinmotor (enskild hjulupphangning), skal den bakre ljuddadmparen
avlagsnas. Om bilen har dieselmotor (stel axel) &r det inte nédvandigt.

Hall dragkroken ,,A“ under bilen och skruva fast den vid ,,a*“ med sexkantskruvarna
M 10x1,25x40 och brickorna 10,5x25x4 pa bilens bakre karosseriplat (svetsmuttrar
forefintliga).

Hanvisning: Skruvarna M 10x1,25x40 (hallfasthetsklass 10.9) skall dragas at med
vridmomentet 50 Nm (vridmomentet motsvarar hallfasthetsklass 8.8).

Skruva fast vinklarna ,,B“ (bil med enskild hjulupphéngning) eller vinklarna ,,C* (bilmed
stel axel) vid ,,b* pa ramsidobalken med sexkantskruvarna M 10x1,25x30 och brickorna
10,5x30x3. Skruva fast vinklarna vid ,,c“ ihop med tvarbalken och dragkroken ,,A“ med
hjalp av sexkantskruvarna M 10x30, brickorna 10,5x30x3 och sexkantmuttrarna M 10.

Vridmoment forM 10 x 1,25
M 10

40 Nm 5%
40 Nm 5%

Montera ater den bakre ljuddamparen.

Med forbehall fér andringar.



H aki HOIOwnicze bez wyposazenia elektrycznego @

Producent: WESTFALIA-AUTOMOTIVE GmbH & Co. KG
Nr zamoéwieniowy firmy Westfalia:332 130
Numer zezwolenia wedtug wytycznych 94/20/EG: e13 00-0321
Klasa: A50-X Typ: 332 130
Dane techniczne: maksymalna wartos¢ D: 9,5 kN
maksymalne obcigzenie podparciowe: 100 kg

Zakres stosowania: Producent samochodu: Nissan

Model: Serena od 11/92

Oznaczenie typu: C23wersjaD22E,D32E, E 32E,
D12S,D22S,E22 S
C 23 wersja W

Zalecenia ogoélne:

Informacjami miarodajnymi odnosnie jazdy sg dane podawane przez producenta
samochodu wzglednie obcigzenie przyczepowe i obcigzenie podparciowe, przy czym
wartosci parametrow haka holowniczego nie mogg zostac przekroczone.

Wz6r do obliczania wartosci D:

Obciazenie przyczepowe [kg] x ciezar catkowity samochodu [kg] = 9,81
Obcigzenie przyczepowe [kg] + cigzar calkowity samochodu [kg] 1000

=D [kN]

Hak holowniczy stuzy do holowania przyczep wyposazonych w pociggowe sprzegta kulowe
oraz do eksploataciji z przyczepami ciezarowymi, ktore sg dopuszczone do zamontowania
sprzegta kulowego. Zakazane jest stosowanie innego rodzaju sprzegiet. Jazda musi by¢
dostosowana do warunkow drogowych. W czasie holowania przyczepy zmieniajg sie
parametry jazdy samochodu. Nalezy przestrzega¢ zalecen zawartych w instrukciji
eksploatacji samochodu, dostarczonej przez producenta.

Podane przez producenta pojazdu punkty mocowania, ktore posiadajg seryjne dopuszczenie, sg,
zachowane.

Nalezy przestrzega¢ narodowych wytycznych dotyczgcych potwierdzenia zamontowan.
Niniejszg instrukcje montazu i eksploatacji nalezy dotaczy¢ do dokumentoéw samochodu.

Zalecenia dotyczace montazu:

Hak holowniczy jest elementem wptywajgcym na bezpieczenstwo jazdy i moze zostac
zainstalowany wytgcznie przez personel wyspecjalizowany.

Niedopuszczalne jest wprowadzanie jakichkolwiek zmian w konstrukcji haka holowniczego.
Prowadzi to do wygasniecia dopuszczenia do stosowania.

W przypadku obecnosci masy izolacyjnej wzglednie ostony podwozia w miejscu
przylegania haka holowniczego nalezy jg usung€. Nieostonigte miejsca karoserii jak rowniez
wywiercone otwory nalezy pomalowac farbg antykorozyjng.

Zalecenia dotyczace eksploataciji:

Wszystkie $ruby mocujace haka holowniczego nalezy dokreci¢ po przejechaniu ok. 1000 km z
przyczepa.

Kule sprzegta nalezy utrzymywac w czystosci i smarowac. W przypadku stosowania urzgdzen
stabilizacyjnych, jak np. system “SSK” firmy Westfalia, kula sprzegta nie moze byc¢
nasmarowana. Nalezy stosowac zalecenia zawarte w odnos$nych instrukcjach eksploatac;ji.
Jezeli w dowolnym miejscu $rednica kuli sprzegta bedzie wynosita 49,0 mm lub mniej hak
holowniczy nie moze byc¢ uzywany ze wzgledow bezpieczenstwa jazdy.

Po zamontowaniu haka holowniczego waga pustego samochodu zwieksza sie 0 17 kg.

Zastrzega sie mozliwos¢ wprowadzania zmian.
37



@

Instrukcja montazu:

1.) Przy pojazdych z silnikami benzynowymi (zawieszenie niezalezne) nalezy usungc
tylny ttumik. Przy pojazdach z silnikami wysokopreznymi (0$ sztywna) nie jest to
konieczne.

2.) Ustawic hak holowniczy ,,A“ pod pojazdem i za pomocg szesciokatnych srub
M 10x1,25x40 i podktadek 10,5x25x4 przykreci¢ w punkcie ,,a“ do tylnej blachy
ostonowej (przewidziane sg nakretki do przyspawania).

Wskazowka: Sruby M 10x1,25x40 (klasa wytrzymatosci 10.9) nalezy dociagng¢
momentem obrotowym 50 Nm (moment dokrecania odpowiada
Srubom klasy 8.8).

3.) Katowniki ,,B“ (przy pojazdach z niezaleznym zawieszeniem ko+t) lub kgtowniki ,,C*
(przy pojazdach ze sztywng osig) nalezy przykreci¢ do podtuznic w punkcie ,,b* za
pomocg, $srub szesciokgtnych M 10x1,25x30 i podktadek 10,5x30x3. Kgtowniki w
punkcie ,,c* przykreci¢ do poprzecznicy i haka holowniczego ,,A“ za pomocg Srub
szesciokgtnych M 10x30, podktadek 10,5x30x3 i nakretek szesciokatnych M 10.

Moment dokrecania dla M10x 1,25 = 40 Nm 5%
M 10 = 40 Nm 5%

4.) Zamocowac z powrotem tylny tfumik.

Zastrzega sie mozliwos¢ wprowadzania zmian.

38



